10.13.

21
10.13-1
10.13-1
(]
(| e
(| e
| >
(| >
(|
(I e
[ 1 L)
(| e
(]
—_
1 « ) [ (
2
e
>
@)

507




10.13.1.
D
@

&)

10.13.1-1(1)
10.13.1-1(2)
10.13.1-1(1)
10.13.1-2(2)
10.13.1-1(2)
10
2005 2010
30 10
30
10
0.3%0.1><100 ()
10
CO2 Ver3.0 19
12.4
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a)

10.13.1-1
10.13.1-2
Co, |
10.13.1-1
10.13.1-2 54
1
1]
kw 1/kW/h h/ h kl
= X = x > /1000
( 0.7r) 104 0.175 380 9 3,420 62 60
(0.7m%) 104 0.175 2,780 9 25,020 455 442
(0.45m%) 60 0.175 3,260 9 29,340 308 299
(0.25m%) 41 0.175 1,380 9 12,420 89 86
(10t) 7 0.152 400 9 3,600 42 42
(1.5t) 10 0.152 600 9 5,400 8 8
(10t) 71 0.100 200 9 1,800 13 13
(25t) 193 0.103 1,180 9 10,620 211 211
(16t) 100 0.175 800 9 7,200 126 126
(30t) 165 0.044 380 9 3,420 25 25
(25t) 112 0.089 30 9 270 3 3
(30t) 165 0.044 480 9 4,320 31 31
(0.4m3) 60 0.175 60 9 540 6 5
(115m3/h) 265 0.078 72 9 648 13 13
1,392 1,364
1
22 22 ()
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b)

10.13.1-2

10.13.1-2

Ver.3.2

21

23 4

HP

10.13.1-3

CO,

510



10.13.1-3 54
1] 2 1]
kn/1 km kI
= / > /1000
(10 25t) 2.62 2.88 46,100 60 1,056 960
(2 4t) 4.58 5.04 1,680 60 22 20
(10 25t) 2.62 2.88 5,740 60 131 120
(4% 4.58 5.04 1,680 60 22 20
(4 10t) 3.09 3.40 3,120 60 61 55
(4t) 4.58 5.04 840 60 1 10
9.35 10.29 4,200 20 9 8
(10t) 3.09 3.40 1,650 60 32 29
4t 4.58 5.04 75 60 1 1
(10t) 3.09 3.40 600 60 12 1
(4t) 4.58 5.04 120 60 2 1
3.09 3.40 2,000 60 39 35
(20t) 2.62 2.88 110 60 3 2
9.35 10.29 6,000 20 13 12
1,392 | 1,264
22 20
Ver.3.2 23 4
21 HP
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®

O]
®)
a)
10.13.1-4
3,600 CO, 3,528 (O,
10.13.1-4 54
Co,
2 1] 2
kl GJ/Kl tC/GJ tCO,
= X< >x  x44/12
( 0.71%) 62 60 160 155
(0.7m%) 455 442 1,176 1,143
(0.45m%) 308 299 796 773
(0.25m%) 89 86 230 222
(10t) 42 42 109 109
(1.5t) 8 8 21 21
(10t) 13 13 34 34
37.7 0.0187
(25t) 211 211 545 545
(161) 126 126 326 326
(30t) 25 25 65 65
(25t) 3 3 8 8
(30t) 31 31 80 80
(0.4m%) 6 5 16 13
(1150°/h) 13 13 34 34
1,392 1,364 3,600 3,528
1 10.13.1-2
2 Co,
Ver.3.2 23 4
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b)

10.13.1-5
3,651 CO, 3,315 (o0,
10.13.1-5 54
o,
1 2 1] 2
kl GJ/KI tC/GJ tCo,
= X< x x44/12
(10 25t) 1,056 960 2,730 2,482
2 41 22 20 57 52
(10 25t) 131 120 339 310
37.7 0.0187
(4t) 22 20 57 52
(4 10t) 61 55 158 142
(4t) 11 10 28 26
9 8 34.6 0.0183 21 19
(10t) 32 29 83 75
(41) 1 1 3 3
(10t) 12 11 31 28
37.7 0.0187
(41) 2 1 5 3
39 35 101 90
(20t) 3 2 8 5
13 12 34.6 0.0183 30 28
3,651 3,315
10.13.1-3
o,
Ver.3.2 23 4
9)
10.13.1-6
7,251 CO, 6,843 CO,
408 CO, 5.6
10.13.1-6
o,
1 2
tCO, tCO, tCO,
= - = / =100
7,251 6,843 408 5.6
3,600 3,528 72 2.0
3,651 3,315 336 9.2
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2)

@
@
10.13.1-7(1)
10.13.1-7(2)
10.13.1-7(1)
1 2
10.13.1-7(2)
10.13.1-7(2)
22
LED
10
22
(tCO,/ )
21 120,000 z
2020 2005 25 100000 |—| ZJ
2020 R B I — Y
80,000 —| : —
20
60,000 — -
1,500kl1/ 40,000

20000 — -

2017 29 2020 o

L
22 2017 2020
10
CO2 Ver3.0 ( 19
) 12.4
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a)

10.13.1-3
23
10.13.1-8
\J
\
| co,
10.13.1-3
10.13.1-8
tC/ tC/
1,345 0.0091 12
23
50 2
67,285 ? 2.9.9-1
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b)

13

ha
15

15

22
10.13.1-9(1) (2)
10.13.1-9(1) (2)

10.13.1-4
13
13
13
13
10.13.1-10
\
\/
\J
= |
10.13.1-4
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10.13.1-9(1)

m? m? / m / /ha
= > /100 / =10
95,432 39,087 48,472 18,946,484 1,985
29,266 13,519 72,289 9,772,717 3,339
30,029 14,262 12,808 1,826,685 608
13,434 6,237 26,220 1,635,437 1,217
20,530 6,742 21,146 1,425,740 694
14,773 7,217 20,426 1,474,209 998
57,188 23,041 27,689 6,379,624 1,116
14,957 12,578 78,147 9,829,394 6,572
162,346 42,589 51,037 21,736,157 1,339
52,354 2,060 443,908 9,143,172 1,746
55,691 24,213 31,563 7,642,285 1,372
17,474 8,201 30,160 2,473,578 1,416
1,603 684 38,108 260,699 1,626
102,430 26,094 19,455 5,076,514 496
175,008 45,345 22,164 10,050,260 574
55,020 14,009 37,818 5,297,779 963
82,743 34,751 27,486 9,551,620 1,154
( 133,108 54,053 43,823 23,687,360 1,780
136,714 65,562 76,299 50,022,913 3,659
162,075 61,841 70,635 43,681,856 2,695
12,946 5,885 58,886 3,465,277 2,677
17,465 6,011 56,320 3,385,415 1,938
) ) 1,442,586 246,765,175 1,817
13 15
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10.13.1-9(2)

1 2
kl/ kl/ k1/ha
= >1000/ = X<
5,935 0.31 622 485
1,514 0.15 517 404
1,773 0.97 590 461
205 0.13 153 119
258 0.18 126 98
147 0.10 100 78
15,794 2.48 2,762 2,154
937 0.10 626 489
62,976 2.90 3,879 3,026
42,914 4.69 8,197 6,394
2,504 0.33 450 351
951 0.38 544 425
25 0.10 156 122
13,355 2.63 1,304 1,017
93,782 9.33 5,359 4,180
3,485 0.66 633 494
2,046 0.21 247 193
( 2,190 0.09 165 128
5,902 0.12 432 337
4,929 0.11 304 237
326 0.09 252 196
220 0.06 126 98
() ) 262,168 1.19 1,252 977
13 15
10.13.1-10
1
1] 2 1 2
kl/ha ha kl/
1,252 977 3.03 3,794 2,960
1,252 977 3.50 4,382 3,420
22 1,252 977 2.99 3,743 2,921
1,252 977 2.20 2,754 2,149
1,252 977 23.44 29,347 22,901
44,020 34,351

10.13.1-9(1) (2)
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©)

10.13.1-5
365
21
10.13.1-11
<—| 1 1
y
|
Co, |
10.13.1-5
10.13.1-11
1 1
1 1 2
/ / 1/ kl/
= 365 = > /1000
790 288,350 61.01 54.91 17,592 15,833
1,966 717,590 4.13 3.72 2,964 2,669
21 HP
2.9.8-1
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®

C))
29
®)
a)
10.13.1-12 44 CO,
10.13.1-12
Co,
tC tCO,/
= x<44/12
12 44
10.13.1-8
b)
10.13.1-13
113,790 CO, 88,796 CO,
10.13.1-13
D o,
1 2 1 2
kl/ GJ/KI tC/GJ 1C0/
= X< x x44/12
3,794 2,960 9,807 7,651
4,382 3,420 11,327 8,841
22 3,743 2,921 37.7 0.0187 9,676 7,551
2,754 2,149 7,119 5,555
29,347 22,901 75,861 59,198
44,020 34,351 113,790 88,796
10.13.1-10
Ver.3.2 23
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©)

10.13.1-14
52,356 CO, 47,124 CO,
10.13.1-14
D o,
1] 2 1] 2
kl/ GJ/KI tC/GJ tCO,/
= x x> x=<44/12
17,592 15,833 37.7 0.0187 45,475 40,928
2,964 2,669 34.6 0.0183 6,881 6,197
52,356 47,124
10.13.1-11
Ver.3.2 23
d)
10.13.1-15
166,102 CO,
135,876 CO, 30,226 CO, 18.2
10.13.1-15
C0,
1 2
tC0,/ tC0,/ tCO,/
= - = / 100
166,102 135,876 30,226 18.2
A44 A44 0 0.0
113,790 88,796 24,994 22.0
52,356 47,124 5,232 10.0
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10.13.2.

1)

@

a)

b)

10.13.2-1
10.13.2-1
10 117
2012
co, 1990 12
2007
20 1990 12
co,

@

a)

10.13.2-2

5.6
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10.13.2-2

30

10

b)

5.6
10.13.2-2

523

Co,



2)

)
2)
b)
10.13.2-3
10.13.2-3
10 117
2020 2005
25 1990 21
21
: :
1051
)
*
1,500kl
21
1,500k1/
20
47
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&)
a)

10.13.2-4

10.13.2-4

18.2

22

LED

22

10
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b)

18.2
25

526

10.13.2-4



